Food Web Worksheet

Part A: Use the marine food chain below to answer questions 1 to 5

The Marine Food Chain
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1) Identify the organism (s) that are producers.
2) Identify the organism (s) that are consumers. _ 0
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3) Identify the primary consumer (s) or 1* order consumer (s).
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4) Identify the secondary consumer (s) 2" order consumer (s).
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5) Identify the tertiary consumer (s) 3 order consumer ().
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Part B: Use the following food wed to answer question 6 to 9
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Make 4 different food chains according to the criteria below:
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The owl 1s a second order consumer:

The owl 1s a third order consumer:
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The owl is a fourth order consumer:
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The owl is a fifth order consumer;
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Part C: Use the food web below to answer questions 10 to 13.
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Explain the consequences to the food web if mice were removed from the
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11) Explain the consequences to the food web if hawk was removed from the
ecosystem.
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12) All the organisms in the food web above have arrows pointing to the
decomposer. Why does this happen?

13) Name the organisms which are part of the biomass.
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Part D. Use the diagram below to answer the questions 14 and 15
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14. Name an animal that could be a second, third or fourth order consumer. Give the
food chain for each example. (‘/Y_l,-@’l,
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15. Which trophic level is missing from the food web?
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